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SETS

Question Bank

1. Consider the set {x : x=  ,n is a natural number, } Write this set in

roster form.

Watch Video Solution

2n n ≤ 5

2. Write the solution set of the equation  in roster form

Watch Video Solution

x2 − 5x + 6 = 0

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_mWQTR17UEaDF
https://dl.doubtnut.com/l/_ACCFGGbJZw0n
https://dl.doubtnut.com/l/_l8BLUyIKgCKx


3. Consider the set A ={1,4,9,16,25,..}. Write A in set-builder form

Watch Video Solution

4. Which of the following are sets? Justify your answer.

The collection of all the months of a year beginning with the letter J

Watch Video Solution

5. Which of the following are sets? Justify your answer.

The collection if ten most talented writers of india

Watch Video Solution

6. Which of the following are sets? Justify your answer.

A team of eleven best-cricket batsman of the world.

Watch Video Solution

https://dl.doubtnut.com/l/_l8BLUyIKgCKx
https://dl.doubtnut.com/l/_DuKSGDmNY3TU
https://dl.doubtnut.com/l/_79T7mfBXMSsm
https://dl.doubtnut.com/l/_0buugrw45FUw


7. Which of the following are sets? Justify your answer.

The collection of all boys in your class

Watch Video Solution

8. Which of the following are sets? Justify your answer.

The collection of all natural numbers less than 100

Watch Video Solution

9. Which of the following are sets? Justify your answer.

A collection of novels written by the writer Munshi Prem Chand.

Watch Video Solution

10. Check whether the following is a set? Justify your answer.

The collection of all even integers

https://dl.doubtnut.com/l/_0buugrw45FUw
https://dl.doubtnut.com/l/_wwpJDKAqkFpa
https://dl.doubtnut.com/l/_NPl8qR9DKJRq
https://dl.doubtnut.com/l/_EP1uZNYjjU3I
https://dl.doubtnut.com/l/_KqnzLeZVsajr


Watch Video Solution

11. Which of the following are sets? Justify your answer.

The collection of questions in the chapter

Watch Video Solution

12. Which of the following are sets? Justify your answer.

A collection of most dangerous Animals of the world

Watch Video Solution

13. Let A = {1,2,3,4,5,6}. Insert the appropriate symbol  or  in the

blank spaces 

5---A

Watch Video Solution

∈ ∉

https://dl.doubtnut.com/l/_KqnzLeZVsajr
https://dl.doubtnut.com/l/_O9zDx66HI8Ll
https://dl.doubtnut.com/l/_51s3GYmcqaTL
https://dl.doubtnut.com/l/_d9PTKSnMc4im
https://dl.doubtnut.com/l/_exGDdwAP9iBp


14. Let A = {1,2,3,4,5,6}. Insert the appropriate symbol  or  in the

blank spaces 

8---A

Watch Video Solution

∈ ∉

15. Let A = {1,2,3,4,5,6}. Insert the appropriate symbol  or  in the

blank spaces 

0,---,A

Watch Video Solution

∈ ∉

16. Let A = {1,2,3,4,5,6}. Insert the appropriate symbol  or  in the

blank spaces 

4,---,A

Watch Video Solution

∈ ∉

https://dl.doubtnut.com/l/_exGDdwAP9iBp
https://dl.doubtnut.com/l/_WsW6xCj4bi1s
https://dl.doubtnut.com/l/_DtDuxtKuDoJS


17. Let A = {1,2,3,4,5,6}. Insert the appropriate symbol  or  in the

blank spaces 

2,---,A

Watch Video Solution

∈ ∉

18. Let A = {1,2,3,4,5,6}. Insert the appropriate symbol  or  in the

blank spaces 

10---A

Watch Video Solution

∈ ∉

19. Write the following sets in roster form 

A={x:x is an integer and }

Watch Video Solution

−3 < x < 7

https://dl.doubtnut.com/l/_ML6Ee7Zh6EqT
https://dl.doubtnut.com/l/_GImw84Uvruwx
https://dl.doubtnut.com/l/_GxLcJFUp7q5p


20. Write the following sets in roster form 

B={x:x is a natural number less than 6}

Watch Video Solution

21. Write the following sets in roster form 

C={x:x is a two-digit natural number such that the sum of its digits is 8}

Watch Video Solution

22. Write the following sets in roster form 

D={x:x is a prime number which is a divisor of 60}

Watch Video Solution

23. Write the following sets in roster form 

E= The set of all letters of the word TRIGONOMETRY

https://dl.doubtnut.com/l/_gEdC8MV24f8M
https://dl.doubtnut.com/l/_CyB8QnUYS5Cb
https://dl.doubtnut.com/l/_qxz8N96nbAlC
https://dl.doubtnut.com/l/_zEngTc7KPFWP


Watch Video Solution

24. Write the following sets in roster form 

F= The set of all letters in the word BETTER.

Watch Video Solution

25. Write the following sets in Set builder form. 

Watch Video Solution

A = {3, 6, 9, 12}

26. Write the following sets in Set builder form. 

Watch Video Solution

B = {2, 4, 8, 16, 32}

https://dl.doubtnut.com/l/_zEngTc7KPFWP
https://dl.doubtnut.com/l/_sZDXMZPdqFJ3
https://dl.doubtnut.com/l/_v5r5hbHY4c5W
https://dl.doubtnut.com/l/_gkl3WBVDqHj2


27. Write the following sets in Set builder form. 

Watch Video Solution

D = {5, 25, 125, 625}

28. Write the following sets in Set builder form. 

Watch Video Solution

E = {2, 4, 6, …. . }

29. Write the following sets in the set-builderform 

{1,4,9,-------,100}

Watch Video Solution

30. List all the elements of the following sets:

A = {x:x is an odd natural number}

https://dl.doubtnut.com/l/_9BGvJCKvijvF
https://dl.doubtnut.com/l/_F0ZxXZI1wpvE
https://dl.doubtnut.com/l/_Bt8DNIPqeIF4
https://dl.doubtnut.com/l/_InprkD5UBr7s


Watch Video Solution

31. Write the following sets in roster form. 

Watch Video Solution

E = {x : x ∈ Z, − < x < }
1

2

9

2

32. List all the element of the following sets:

C = {x:x is an integer,  }

Watch Video Solution

x2 ≤ 4

33. List all the element of the following sets:

D = {x:x is a letter in the word "LOYAL"}

Watch Video Solution

https://dl.doubtnut.com/l/_InprkD5UBr7s
https://dl.doubtnut.com/l/_wtSibdoT6Ieu
https://dl.doubtnut.com/l/_69w0MkZnWOgu
https://dl.doubtnut.com/l/_g4BmjDmBhMUC


34. List all the element of the following sets:

E = {x:x is a month of a year not having 31 days}

Watch Video Solution

35. List all the element of the following sets:

F = {x:x is a consonant in the English alphabet which precedes k}

Watch Video Solution

36. Match each of the sets on the left in the roster form with the same set

on the right described in set-builer form 

Watch Video Solution

https://dl.doubtnut.com/l/_Ha2i97m0mulI
https://dl.doubtnut.com/l/_2b3LDhadd9je
https://dl.doubtnut.com/l/_UQAw0olrqJdD
https://dl.doubtnut.com/l/_phD5Dm0TPLgr


37. State which of the following sets are finite or infinite 

{x:x  N and -3x+2=0}

Watch Video Solution

∈ x2

38. State which of the following sets are finite or infinite 

{x:x  N and x is even}

Watch Video Solution

∈

39. State which of the following sets are finite or infinite 

{x:x  N and  = -2}

Watch Video Solution

∈ x2

40. Write the following sets in roster form and identify equal sets ( if any)

A={x:x R anfd  = 25} 


B= {x:x  N and  = 25} 


∈ x2

∈ x2

https://dl.doubtnut.com/l/_phD5Dm0TPLgr
https://dl.doubtnut.com/l/_rnszP1xIUsod
https://dl.doubtnut.com/l/_MQ7KnMJvDGrD
https://dl.doubtnut.com/l/_lW61R8iWe1TJ


C = {x:x  R and  - 10x+25 = 0}


D = {x:x  N and  - 8x+15=0}

Watch Video Solution

∈ x2

∈ x2

41. Which of the following are examples of the null set 

Set of odd natural number divisible by 2

Watch Video Solution

42. Which of the following are null set 

Set of even prime numbers

Watch Video Solution

43. Which of the following are null set 

{x:x is a natural number,  and }

Watch Video Solution

x < 5 x > 7

https://dl.doubtnut.com/l/_lW61R8iWe1TJ
https://dl.doubtnut.com/l/_ZfGw7JKHEfDk
https://dl.doubtnut.com/l/_UJaAyDzZ0eku
https://dl.doubtnut.com/l/_9QBi8bUwvkso


44. Which of the following are examples of the null set 

{y:y is a point common to any two non-coincident parallel lines}

Watch Video Solution

45. Which of the folowinfg sets are finite or infinite? 

The set of months of a year

Watch Video Solution

46. Which of the following sets are finite or infinite? 

{1,2,3,...}

Watch Video Solution

https://dl.doubtnut.com/l/_9QBi8bUwvkso
https://dl.doubtnut.com/l/_vaxsLkel5BC3
https://dl.doubtnut.com/l/_Z7LUrCdLlUpR
https://dl.doubtnut.com/l/_k1i0gelNbs6z


47. Which of the following sets are finite or infinite? 

{1,2,3,.....99,100}

Watch Video Solution

48. Which of the following sets are finite or infinite? 

The set of positive integers greater than 100

Watch Video Solution

49. Which of the following sets are finite or infinite? 

The set of prime number less than 99

Watch Video Solution

50. State whether each of the following sets in finite or infinite 

The set of lines which are parallel to x-axis

https://dl.doubtnut.com/l/_L9LPwrpXqNl9
https://dl.doubtnut.com/l/_7V6xAZNUFgOy
https://dl.doubtnut.com/l/_N3vElVr6SQwq
https://dl.doubtnut.com/l/_Dx72N90KE4Vy


Watch Video Solution

51. State whether each of the following sets in finite or infinite 

The set of letters in the English Alphabet

Watch Video Solution

52. State whether the following set is finite or infinite 

The set of numbers which are multiples of 5

Watch Video Solution

53. State whether the following set is finite or infinite 

The set of animals living on the earth

Watch Video Solution

https://dl.doubtnut.com/l/_Dx72N90KE4Vy
https://dl.doubtnut.com/l/_aXxZ7ldxcklb
https://dl.doubtnut.com/l/_fTU8vaNar7ZG
https://dl.doubtnut.com/l/_KgxI6p1Zjvpx


54. State whether the following set is finite or infinite 

The set of circles passing through the origin (0,0)

Watch Video Solution

55. In the following, state whether A=B or not

A={a,b,c,d}, B={d,c,b,a}

Watch Video Solution

56. In the following, state whether A=B or not

A={4,8,12,16}, B={8,4,16,18}

Watch Video Solution

57. In the following, state whether A=B or not

A={2,4,6,8,10}, B={x:x is a positive even integer }≤ 10

https://dl.doubtnut.com/l/_HZ6DCW936wnA
https://dl.doubtnut.com/l/_TDa5ii2NNH7o
https://dl.doubtnut.com/l/_ozC7EGJndKGC
https://dl.doubtnut.com/l/_rDNKhrWMZAJT


Watch Video Solution

58. In the following, state whether A=B or not

A={x:x is a multiple of 10} B={10,15,20,25,30,........}

Watch Video Solution

59. Are the following pair of sets equal? Give reasons 

A={2,3},B={x:x is a solution of +5x+6=0}

Watch Video Solution

x2

60. Are the following pair of sets equal? Give reasons 

A={x:x is a letter in the word FOLLOW}

B= {y:y is a letter in the word WORLD}

Watch Video Solution

https://dl.doubtnut.com/l/_rDNKhrWMZAJT
https://dl.doubtnut.com/l/_jvyTp6jbQppl
https://dl.doubtnut.com/l/_fICRMrzuqmPs
https://dl.doubtnut.com/l/_t6Ktdtamrr0z
https://dl.doubtnut.com/l/_Dx9dFwG3eBc3


61. From the sets given below, select equal sets:

A={2,4,8,12}, B={1,2,3,4}, C={4,8,12,14},

D={3,1,4,2}, E={-1,1} F={0,a} 

G={1,-1} H={0,1}

Watch Video Solution

62. Make correct statement by filling the blanks by the symbols  or 




{2,3,4}.......{1,2,3,4,5}

Watch Video Solution

⊂

⊂

63. Make correct statement by filling the blanks by the symbols  or 




{a,b,c}......{b,c,d}

Watch Video Solution

⊂

⊂

https://dl.doubtnut.com/l/_Dx9dFwG3eBc3
https://dl.doubtnut.com/l/_qL81yhZ3WKi2
https://dl.doubtnut.com/l/_eJxDpwQzOhVF
https://dl.doubtnut.com/l/_8EAxL42AlKKw


64. Make correct statement by filling the blanks by the symbols  or 




{x:x is a student of class XI of your school}....{x:x is a student of your

school}

Watch Video Solution

⊂

⊂

65. Make correct statement by filling the blanks by the symbols  or 




{x:x is a circle in the plane}....{x:x is a circle in the same plane with redius 1

unit}

Watch Video Solution

⊂

⊂

66. Make correct statement by filling the blanks by the symbols  or 




{x:x is a triangle in a plane}.....{x:x is a rectangle in the plane}

Watch Video Solution

⊂

⊂

https://dl.doubtnut.com/l/_8EAxL42AlKKw
https://dl.doubtnut.com/l/_0n0fRtUM0npA
https://dl.doubtnut.com/l/_P7UONNyUD69J


67. Make correct statement by filling the blanks by the symbols  or 




{x:x is a equilateral triangle in a plane}....{x:x is a triangle in the same

plane}

Watch Video Solution

⊂

⊂

68. Make correct statement by filling the blanks by the symbols  or 




{x:x is an even natural number}....{x:x is an integer}

Watch Video Solution

⊂

⊂

69. Examine whether the following statement are true or false

{a,b}  {b,c,a}

Watch Video Solution

⊂

https://dl.doubtnut.com/l/_P7UONNyUD69J
https://dl.doubtnut.com/l/_xWSpwWBNYk13
https://dl.doubtnut.com/l/_TwMgOQiOvtkd
https://dl.doubtnut.com/l/_083XnFirRq8F


70. Examine whether the following statement are true or false

{a,e} {x:x is a vowel in the English alphabet}

Watch Video Solution

⊂

71. Examine whether the following statement are true or false

{1,2,3}  {1,3,5}

Watch Video Solution

⊂

72. Examine whether the following statement are true or false

{a}  {a,b,c}

Watch Video Solution

⊂

73. Examine whether the following statement are true or false

{a}  {a,b,c}∈

https://dl.doubtnut.com/l/_QaqMixSS1zC0
https://dl.doubtnut.com/l/_m5GkK6g0sip9
https://dl.doubtnut.com/l/_w5eHaRIeg3jZ
https://dl.doubtnut.com/l/_cXwV9DOQlZHJ


Watch Video Solution

74. Examine whether the following statement are true or false

{x:x is an even natural number les than 6}  {x:x is a natural number

which divides 36}

Watch Video Solution

⊂

75. Let A={1,2,{3,4},5}. Which of the following statement are incorrect and

why? 

{3,4}  A

Watch Video Solution

⊂

76. Let A={1,2,{3,4},5}. Which of the following statement are incorrect and

why? 

{3,4}  A

Watch Video Solution

∈

https://dl.doubtnut.com/l/_cXwV9DOQlZHJ
https://dl.doubtnut.com/l/_y2zT58lOs1uO
https://dl.doubtnut.com/l/_7UXHDrjveXtA
https://dl.doubtnut.com/l/_Lw7Abl2gjq1J


77. Let A={1,2,{3,4},5}. Which of the following statement are incorrect and

why? 

{{3,4}}  A

Watch Video Solution

⊂

78. Let A={1,2,{3,4},5}. Which of the following statement are incorrect and

why? 

1  A

Watch Video Solution

∈

79. Let A={1,2,{3,4},5}. Which of the following statement are incorrect and

why? 

1  A

Watch Video Solution

⊂

https://dl.doubtnut.com/l/_Lw7Abl2gjq1J
https://dl.doubtnut.com/l/_fmUhGFnd65kw
https://dl.doubtnut.com/l/_3usA8cf5MgLP
https://dl.doubtnut.com/l/_lOKeY8C6FqIL


80. Let A={1,2,{3,4},5}. Which of the following statement are incorrect and

why? 

{1,2,5}  A

Watch Video Solution

⊂

81. Let A={1,2,{3,4},5}. Which of the following statement are incorrect and

why? 

{1,2,5}  A

Watch Video Solution

∈

82. Let , which of the following statements are

true/false and why? 

Watch Video Solution

A = {1, 2, {3, 4}, s, d, θ}

{1, 2, 3} ⊂ A

https://dl.doubtnut.com/l/_lOKeY8C6FqIL
https://dl.doubtnut.com/l/_2Z4BHiBWiYEN
https://dl.doubtnut.com/l/_qxkC7rs9xZqj
https://dl.doubtnut.com/l/_FgF16ZNArw64


83. Let , which of the following statements are

true/false and why? 

Watch Video Solution

A = {1, 2, {3, 4}, s, d, θ}

∅ ∈ A

84. Let A={1,2,{3,4},5}. Which of the following statement are incorrect and

why? 

Watch Video Solution

ϕ ⊂ A

85. Let A={1,2,{3,4},5}. Which of the following statement are incorrect and

why? 

Watch Video Solution

{ϕ} ⊂ A

https://dl.doubtnut.com/l/_gVLnrW55pUX0
https://dl.doubtnut.com/l/_tc6Fyslg0B2Y
https://dl.doubtnut.com/l/_2QGwdQCU7Xvc
https://dl.doubtnut.com/l/_oXdp8evQFfwc


86. Write down all the subsets of the following sets

{a}

Watch Video Solution

87. Write down all the subsets of the following sets

{a,b}

Watch Video Solution

88. Write down all the subsets of the following sets

{1,2,3}

Watch Video Solution

89. Write all subset of the following. 

Watch Video Solution

∅

https://dl.doubtnut.com/l/_oXdp8evQFfwc
https://dl.doubtnut.com/l/_hqQH2yTkzHpI
https://dl.doubtnut.com/l/_rs2fdHSqmiDl
https://dl.doubtnut.com/l/_ZQziDkxtStuf


90. How many elements has P(A), if A= ?

Watch Video Solution

ϕ

91. Write the following in interval form. 

Watch Video Solution

{x : x ∈ R, − 4 < x ≤ 6}

92. Write the following as intervals: 

Watch Video Solution

{x : x ∈ R, − 12 < x < − 10}

93. Write the following in interval form. 

{x : x ∈ R, 0 ≤ x < 7}

https://dl.doubtnut.com/l/_ZQziDkxtStuf
https://dl.doubtnut.com/l/_ETQG0uzKBxrh
https://dl.doubtnut.com/l/_N6puGdkL2cDD
https://dl.doubtnut.com/l/_OH4YUTNzxR58
https://dl.doubtnut.com/l/_VzcE44SPOqCu


Watch Video Solution

94. Write the following in interval form. 

Watch Video Solution

{x : x ∈ R, 3 ≤ x ≤ 4}

95. Write the following intervals in set-builder form: 

(-3,0)

Watch Video Solution

96. Write the following intervals in set-builder form: 

[6,12]

Watch Video Solution

https://dl.doubtnut.com/l/_VzcE44SPOqCu
https://dl.doubtnut.com/l/_QsYxK49v6PPW
https://dl.doubtnut.com/l/_pcJUj2sCkTXQ
https://dl.doubtnut.com/l/_QnZqfJV46voH


97. Write the following intervals in set-builder form: 

(6,12]

Watch Video Solution

98. Write the following intervals in set-builder form: 

[-23,5)

Watch Video Solution

99. What universal set(s) would you propose for each of the following: 

The set of right triangles

Watch Video Solution

100. What universal set(s) would you propose for each of the following: 

The set of isoseles triangles.

https://dl.doubtnut.com/l/_U5OCGYzqqjyj
https://dl.doubtnut.com/l/_UefCA86YqLFe
https://dl.doubtnut.com/l/_o64K4IOM3yrR
https://dl.doubtnut.com/l/_Z0vuFGDc5Lxr


Watch Video Solution

101. Given the set A={1,3,5},B={2,4,6} and C={0,2,4,6,8}, which of the

following may be considered as universal set(s) for all the three sets A,B

and C 

{0,1,2,3,4,5,6}

Watch Video Solution

102. Given the set A={1,3,5},B={2,4,6} and C={0,2,4,6,8}, which of the

following may be considered as universal set(s) for all the three sets A,B

and C 

Watch Video Solution

ϕ

103. Given the set A={1,3,5},B={2,4,6} and C={0,2,4,6,8}, which of the

following may be considered as universal set(s) for all the three sets A,B

https://dl.doubtnut.com/l/_Z0vuFGDc5Lxr
https://dl.doubtnut.com/l/_sXc7KEOahm6O
https://dl.doubtnut.com/l/_P2V4NjuuQ1YO
https://dl.doubtnut.com/l/_RTSb7s2ErZzl


and C 

{0,1,2,3,4,5,6,7,8,9,10}

Watch Video Solution

104. Given the set A={1,3,5},B={2,4,6} and C={0,2,4,6,8}, which of the

following may be considered as universal set(s) for all the three sets A,B

and C 

{1,2,3,4,5,6,7,8}

Watch Video Solution

105. Find the union of each of the following pairs of sets: 

X = {1,3,5} Y = {1,2,3}

Watch Video Solution

https://dl.doubtnut.com/l/_RTSb7s2ErZzl
https://dl.doubtnut.com/l/_sLOUQauAwlnn
https://dl.doubtnut.com/l/_bqGsz1VXdOYZ


106. Find the union of each of the following pairs of sets: 

A = {a,e,i,o,u} B = {a,b,c}

Watch Video Solution

107. Find the union of each of the following pairs of sets: 

A = {x:x is a natural number and multiple of 3}

B = {x:x is a natural number less than 6}

Watch Video Solution

108. Find the union of each of the following pairs of sets: 

A = {x:x is a natural number and 1 }


B = {x:x is a natural number and }

Watch Video Solution

< x ≤ 6

6 < x < 10

https://dl.doubtnut.com/l/_eUd1uJa8ZjSD
https://dl.doubtnut.com/l/_7vgfSXPRDTbI
https://dl.doubtnut.com/l/_pd767HQxZp0I


109. Find the union of each of the following pairs of sets: 

A = {1,2,3},B=

Watch Video Solution

ϕ

110. Let A = {a,b}, B = {a,b,c}. is ? What is ?

Watch Video Solution

A ⊂ B A ∪ B

111. If A and B are two sets such that ,then  is a)A b)Null set

c)B

d)

Watch Video Solution

A ⊂ B A ∪ B

{∅}

112. If A = {1,2,3,4},B={3,4,5,6},C = {5,6,7,8} and D = {7,8,9,10}, find 

A ∪ B

https://dl.doubtnut.com/l/_bWp1jConoRWy
https://dl.doubtnut.com/l/_uTtAOCz1pLhX
https://dl.doubtnut.com/l/_bydZ4l1S6oQx
https://dl.doubtnut.com/l/_Dl8DxGOaICbi


Watch Video Solution

113. If A = {1,2,3,4},B={3,4,5,6},C = {5,6,7,8} and D = {7,8,9,10}, find 

Watch Video Solution

A ∪ C

114. If A = {1,2,3,4},B={3,4,5,6},C = {5,6,7,8} and D = {7,8,9,10}, find 

Watch Video Solution

B ∪ C

115. If A = {1,2,3,4},B={3,4,5,6},C = {5,6,7,8} and D = {7,8,9,10}, find 

Watch Video Solution

B ∪ D

https://dl.doubtnut.com/l/_Dl8DxGOaICbi
https://dl.doubtnut.com/l/_8rDcxXk98dyP
https://dl.doubtnut.com/l/_J5d6bdY3EVAh
https://dl.doubtnut.com/l/_GZMJKSWjiL9p


116. If A = {1,2,3,4},B={3,4,5,6},C = {5,6,7,8} and D = {7,8,9,10}, find 

Watch Video Solution

A ∪ B ∪ C

117. If A = {1,2,3,4},B={3,4,5,6},C = {5,6,7,8} and D = {7,8,9,10}, find 

Watch Video Solution

A ∪ B ∪ D

118. If A = {1,2,3,4},B={3,4,5,6},C = {5,6,7,8} and D = {7,8,9,10}, find 

Watch Video Solution

B ∪ C ∪ D

119. If A = {3,5,7,9,11}, B = {7,9,11,13}, C = {11,13,15} and D = {15,17}, find 

A ∩ B

https://dl.doubtnut.com/l/_G4hAqiAivOns
https://dl.doubtnut.com/l/_ZjP39Uw51dvf
https://dl.doubtnut.com/l/_pmS5KwcZrivv
https://dl.doubtnut.com/l/_EcM95nnLNhrb


Watch Video Solution

120. If A = {3,5,7,9,11}, B = {7,9,11,13}, C = {11,13,15} and D = {15,17}, find 

Watch Video Solution

B ∩ C

121. If A = {3,5,7,9,11},B= {7,9,11,13}, C = {11,13,15} and D = {15,17}, find 

Watch Video Solution

A ∩ C ∩ D

122. If A = {3,5,7,9,11},B = {7,9,11,13}, C = {11,13,15} and D = {15,17}, find 

Watch Video Solution

A ∩ C

https://dl.doubtnut.com/l/_EcM95nnLNhrb
https://dl.doubtnut.com/l/_lfwhWr75ltet
https://dl.doubtnut.com/l/_AO2ZoGuQ9ulv
https://dl.doubtnut.com/l/_YkNKQFWwCV66


123. If A = {3,5,7,9,11}, B = {7,9,11,13}, C = {11,13,15} and D = {15,17}, find 

Watch Video Solution

B ∩ D

124. If A = {3,5,7,9,11}, B= {7,9,11,13}, C = {11,13,15} and D = {15,17}, find 

Watch Video Solution

A ∩ (B ∪ C)

125. If A = {3,5,7,9,11}, B= {7,9,11,13}, C = {11,13,15} and D = {15,17}, find 

Watch Video Solution

A ∩ D

126. If A = {3,5,7,9,11}, B= {7,9,11,13}, C = {11,13,15} and D = {15,17}, find 

A ∩ (B ∪ D)

https://dl.doubtnut.com/l/_Vf5VancoVprp
https://dl.doubtnut.com/l/_0824CBj96FHa
https://dl.doubtnut.com/l/_JgeqAJNDH3cM
https://dl.doubtnut.com/l/_jzlbshNfYItg


Watch Video Solution

127. If A = {3,5,7,9,11}, B ={7,9,11,13}, C = {11,13,15} and D = {15,17}, find 

Watch Video Solution

(A ∩ B) ∩ (B ∪ C)

128. If A = {3,5,7,9,11}, B ={7,9,11,13}, C = {11,13,15} and D = {15,17}, find 

Watch Video Solution

(A ∪ D) ∩ (B ∪ C)

129. If A = {x:x is a natural number},B = {x:x is an even natural number},

C = {x:x is an odd natural number} and D = {x:x is a prime number}, find 

Watch Video Solution

A ∩ B

https://dl.doubtnut.com/l/_jzlbshNfYItg
https://dl.doubtnut.com/l/_K1bfxPqG0ZFW
https://dl.doubtnut.com/l/_6iaOYhAierIR
https://dl.doubtnut.com/l/_1iQ2Uc9f3KPy
https://dl.doubtnut.com/l/_qsmkUl4jLkIC


130. If A = {x:x is a natural number},B = {x:x is an even natural number},

C = {x:x is an odd natural number} and D = {x:x is a prime number}, find 

Watch Video Solution

A ∩ C

131. If A = {x:x is a natural number},B = {x:x is an even natural number},

C = {x:x is an odd natural number} and D = {x:x is a prime number}, find 

Watch Video Solution

A ∩ D

132. If A = {x:x is a natural number},B = {x:x is an even natural number},

C = {x:x is an odd natural number} and D = {x:x is a prime number}, find 

Watch Video Solution

B ∩ C

https://dl.doubtnut.com/l/_qsmkUl4jLkIC
https://dl.doubtnut.com/l/_ehTCKwDPZtQj
https://dl.doubtnut.com/l/_Wqw7bCVPKdbI


133. If A = {x:x is a natural number},B = {x:x is an even natural number},

C = {x:x is an odd natural number} and D = {x:x is a prime number}, find 

Watch Video Solution

B ∩ D

134. If A = {x:x is a natural number},B = {x:x is an even natural number},

C = {x:x is an odd natural number} and D = {x:x is a prime number}, find 

Watch Video Solution

C ∩ D

135. Which of the following pairs of sets are disjoint

{1,2,3,4} and {x:x is a natural number and }

Watch Video Solution

4 ≤ x ≤ 6

https://dl.doubtnut.com/l/_pAcERAVL1TAn
https://dl.doubtnut.com/l/_wdYSJy12nlNm
https://dl.doubtnut.com/l/_Wd00o1pNYgK4


136. Which of the following pairs of sets are disjoint

{a,e,i,o,u} and {c,d,e,f}

Watch Video Solution

137. Which of the following pairs of sets are disjoint

{x:x is an even integer} and {x:x is an odd integer}

Watch Video Solution

138. If A = {3,6,9,12,15,18,21},B = {4,8,12,16,20},C = {2,4,6,8,10,12,14,16}, D =

{5,10,15,20}, find 

A - B

Watch Video Solution

https://dl.doubtnut.com/l/_V2pjvX5JijXz
https://dl.doubtnut.com/l/_sZOt8cEeVjQb
https://dl.doubtnut.com/l/_s9ITshu76Hxd


139. If A = {3,6,9,12,15,18,21},B = {4,8,12,16,20},C = {2,4,6,8,10,12,14,16}, D =

{5,10,15,20}, find 

A - C

Watch Video Solution

140. If A = {3,6,9,12,15,18,21},B = {4,8,12,16,20},C = {2,4,6,8,10,12,14,16}, D =

{5,10,15,20}, find 

A - D

Watch Video Solution

141. If A = {3,6,9,12,15,18,21},B = {4,8,12,16,20},C = {2,4,6,8,10,12,14,16}, D =

{5,10,15,20}, find 

B - A

Watch Video Solution

https://dl.doubtnut.com/l/_WUOgvznzs1hp
https://dl.doubtnut.com/l/_PsuiHNSUj7Hl
https://dl.doubtnut.com/l/_6R4I5TykisZC
https://dl.doubtnut.com/l/_F5gUGgQ47B8k


142. If A = {3,6,9,12,15,18,21},B = {4,8,12,16,20},C = {2,4,6,8,10,12,14,16}, D =

{5,10,15,20}, find 

C - A

Watch Video Solution

143. If A = {3,6,9,12,15,18,21},B = {4,8,12,16,20},C = {2,4,6,8,10,12,14,16}, D =

{5,10,15,20}, find 

D - A

Watch Video Solution

144. If A = {3,6,9,12,15,18,21},B = {4,8,12,16,20},C = {2,4,6,8,10,12,14,16}, D =

{5,10,15,20}, find 

B - C

Watch Video Solution

https://dl.doubtnut.com/l/_F5gUGgQ47B8k
https://dl.doubtnut.com/l/_DH0YaV6Pr8jr
https://dl.doubtnut.com/l/_yXTY36QxPQoL


145. If A = {3,6,9,12,15,18,21},B = {4,8,12,16,20},C = {2,4,6,8,10,12,14,16}, D =

{5,10,15,20}, find 

B - D

Watch Video Solution

146. If A = {3,6,9,12,15,18,21},B = {4,8,12,16,20},C = {2,4,6,8,10,12,14,16}, D =

{5,10,15,20}, find 

C - B

Watch Video Solution

147. If A = {3,6,9,12,15,18,21},B = {4,8,12,16,20},C = {2,4,6,8,10,12,14,16}, D =

{5,10,15,20}, find 

D - B

Watch Video Solution

https://dl.doubtnut.com/l/_VsD62zewCiFt
https://dl.doubtnut.com/l/_HLJe0ui1ObFh
https://dl.doubtnut.com/l/_macGWUUeybCy
https://dl.doubtnut.com/l/_4y84jfYJf58y


148. If A = {3,6,9,12,15,18,21},B = {4,8,12,16,20},C = {2,4,6,8,10,12,14,16}, D =

{5,10,15,20}, find 

C - D

Watch Video Solution

149. If A = {3,6,9,12,15,18,21},B = {4,8,12,16,20},C = {2,4,6,8,10,12,14,16}, D =

{5,10,15,20}, find 

D - C

Watch Video Solution

150. If X = {a,b,c,d} and Y = {f,b,d,g}, find 

X - Y

Watch Video Solution

https://dl.doubtnut.com/l/_4y84jfYJf58y
https://dl.doubtnut.com/l/_ashEE2KLg2Gi
https://dl.doubtnut.com/l/_accqfrx8DzfM


151. If X = {a,b,c,d} and Y = {f,b,d,g}, find 

Y - X

Watch Video Solution

152. If X = {a,b,c,d} and Y = {f,b,d,g}, find 

Watch Video Solution

X ∩ Y

153. If R is the set of all real number and Q is the set of all rational

numbers, then what is R - Q?

Watch Video Solution

154. State whether each of the following statements is true or false.

Justify your answer.

https://dl.doubtnut.com/l/_2Vk0ePKK1QkE
https://dl.doubtnut.com/l/_j430IVGO9aA2
https://dl.doubtnut.com/l/_gFGGAWgkSCxB
https://dl.doubtnut.com/l/_bZIOIzgntUUE


{2,3,4,5} and {3,6} are disjoint sets

Watch Video Solution

155. State whether each of the following statements is true or false.

Justify your answer.

{a,e,i,o,u} and {a,b,c,d} are disjoint sets

Watch Video Solution

156. State whether each of the following statements is true or false.

Justify your answer.

{2,6,10,14} and {3,7,11,15} are disjoint sets

Watch Video Solution

157. State whether each of the following statements is true or false. Justify

your answer.

https://dl.doubtnut.com/l/_bZIOIzgntUUE
https://dl.doubtnut.com/l/_yX43L4R2mxrs
https://dl.doubtnut.com/l/_gcY8Ub9BdzJ9
https://dl.doubtnut.com/l/_Mb4aBNxioscI


{2,6,10} and {3,7,11} are disjoint sets

Watch Video Solution

158. Let U = {1,2,3,4,5,6,7,8,9}, A = {1,2,3,4}, B ={2,4,6,8} and C = {3,4,5,6}. Find 

A'

Watch Video Solution

159. Let U = {1,2,3,4,5,6,7,8,9}, A = {1,2,3,4}, B ={2,4,6,8} and C = {3,4,5,6}. Find B'

Watch Video Solution

160. Let U = {1,2,3,4,5,6,7,8,9}, A = {1,2,3,4}, B ={2,4,6,8} and C = {3,4,5,6}. Find

Watch Video Solution

(A ∪ C)'

https://dl.doubtnut.com/l/_Mb4aBNxioscI
https://dl.doubtnut.com/l/_1e0InWl5cswH
https://dl.doubtnut.com/l/_BfzZ4cbznTRG
https://dl.doubtnut.com/l/_qXRVA308fX91


161. Let U = {1,2,3,4,5,6,7,8,9}, A = {1,2,3,4}, B ={2,4,6,8} and C = {3,4,5,6}. Find

Watch Video Solution

(A ∪ B)'

162. Let U = {1,2,3,4,5,6,7,8,9}, A = {1,2,3,4}, B ={2,4,6,8} and C = {3,4,5,6}. Find

(A')'

Watch Video Solution

163. Let U = {1,2,3,4,5,6,7,8,9}, A = {1,2,3,4}, B ={2,4,6,8} and C = {3,4,5,6}. Find

(B - C)'

Watch Video Solution

164. If U = {a,b,c,d,e,f,g,h}, find the complements of the following sets:A =

{a,b,c}

https://dl.doubtnut.com/l/_bpMj0cd2sAxH
https://dl.doubtnut.com/l/_7dKTkWWqV1iJ
https://dl.doubtnut.com/l/_b92RDrowHgfs
https://dl.doubtnut.com/l/_I7XmvpxVmTVY


Watch Video Solution

165. If U = {a,b,c,d,e,f,g,h}, find the complements of the following sets:B =

{d,e,f,g}

Watch Video Solution

166. If U = {a,b,c,d,e,f,g,h}, find the complements of the following sets:C=

{a,c,e,g}

Watch Video Solution

167. If U = {a,b,c,d,e,f,g,h}, find the complements of the following sets:D =

{f,g,h,a}

Watch Video Solution

https://dl.doubtnut.com/l/_I7XmvpxVmTVY
https://dl.doubtnut.com/l/_7xNa41J9I99F
https://dl.doubtnut.com/l/_q0dkdag8RV5c
https://dl.doubtnut.com/l/_4N1zSJCE7CW6


168. Taking the set of natural number as the universal set, write down the

complements of the following sets: 

{x:x is an even natural number }

Watch Video Solution

169. Taking the set of natural number as the universal set, write down the

complements of the following sets:{x:x is an odd natural number}

Watch Video Solution

170. Taking the set of natural number as the universal set, write down the

complements of the following sets:{x:x is a positive multiple of 3}

Watch Video Solution

https://dl.doubtnut.com/l/_fpSw2yuhaNJW
https://dl.doubtnut.com/l/_kzvoQmMZXp5B
https://dl.doubtnut.com/l/_leyzLw9BXdjd


171. Taking the set of natural number as the universal set, write down the

complements of the following sets: 

{x:x is a prime number}

Watch Video Solution

172. Taking the set of natural number as the universal set, write down the

complements of the following sets:{x:x is a natural number divisible by 3

and 5}

Watch Video Solution

173. Taking the set of natural number as the universal set, write down the

complements of the following sets:{x:x is a perfect square}

Watch Video Solution

https://dl.doubtnut.com/l/_1GF1kkbihBR5
https://dl.doubtnut.com/l/_nzsM6uc9if3L
https://dl.doubtnut.com/l/_Se85dta9zHbB


174. Taking the set of natural number as the universal set, write down the

complements of the following sets: 

{x:x is a perfect cube}

Watch Video Solution

175. Taking the set of natural number as the universal set, write down the

complements of the following sets: 

{x:x+5 = 8}

Watch Video Solution

176. Taking the set of natural number as the universal set, write down the

complements of the following sets:{x: 2x + 5 =9}

Watch Video Solution

https://dl.doubtnut.com/l/_RuWG7jn4oI9K
https://dl.doubtnut.com/l/_gUXIcesFXz5I
https://dl.doubtnut.com/l/_YtOlNjNqZbCk


177. Taking the set of natural number as the universal set, write down the

complements of the following sets:

Watch Video Solution

{x : x ≥ 7}

178. Taking the set of natural number as the universal set, write down the

complements of the following sets:

Watch Video Solution

{x : x ∈ N and 2x + 1 > 10}

179. If , , .

Verify =

Watch Video Solution

U = {1, 2, 3, 4, 5, 6, 7, 8, 9} A = {2, 4, 6, 8} B = {2, 3, 5, 7}

(A⋃B)' A' ⋂B'

180. If ,  and  then:

Check whether 

U = {1, 2, 3, 4, 5, 6, 7, 8} A = {2, 4, 6, 8} B = {2, 4, 8}

(A⋂B)' = A' ⋃B'

https://dl.doubtnut.com/l/_QUBXejNJF0V2
https://dl.doubtnut.com/l/_JX9dFafhaqXw
https://dl.doubtnut.com/l/_HaxLXXvIu4Qk
https://dl.doubtnut.com/l/_OxT5kO9mSEfX


Watch Video Solution

181. Draw appropriate Venn diagram for each of the following 

Watch Video Solution

(A ∪ B)'

182. Draw appropriate Venn diagram for each of the following 

Watch Video Solution

A' ∩ B'

183. Draw appropriate Venn diagram for each of the following

Watch Video Solution

(A ∩ B)'

184. Draw appropriate Venn diagram for each of the following A'  B'

Watch Video Solution

∪

https://dl.doubtnut.com/l/_OxT5kO9mSEfX
https://dl.doubtnut.com/l/_yQ2Zr6QauGU7
https://dl.doubtnut.com/l/_5zYKEbpMa3hH
https://dl.doubtnut.com/l/_btE9UKrljfUl
https://dl.doubtnut.com/l/_BOwjdTp2tI4e


185. Let U be the set of all triangles in a plane. If A is the set of all

triangles with atleast one angle different from , what is ?

Watch Video Solution

60∘ A'

186. Fill in the blanks to make each of the following a true statement:

Watch Video Solution

A ∪ A' =

187. Fill in the blanks to make each of the following a true statement:

Watch Video Solution

ϕ ∩ A =

188. Fill in the blanks to make each of the following a true statement:

A ∩ A' =

https://dl.doubtnut.com/l/_BOwjdTp2tI4e
https://dl.doubtnut.com/l/_0EeNNDY3ZRhD
https://dl.doubtnut.com/l/_JJK2cdGFtDcr
https://dl.doubtnut.com/l/_eThPEgQ3vwkB
https://dl.doubtnut.com/l/_kiZh3iHWoAac


Watch Video Solution

189. Fill in the blanks to make each of the following a true statement:

Watch Video Solution

U' ∩ A =

190. If X and Y are two sets such that n (X) = 17, n (Y) = 23 and n 

=38, find n 

Watch Video Solution

(X ∪ Y )

(X ∩ Y )

191. If X and Y are two sets such that  has 18 elements, X has 8

elements and Y has 15 elements, how many elements does  have?

Watch Video Solution

X ∪ Y

X ∩ Y

https://dl.doubtnut.com/l/_kiZh3iHWoAac
https://dl.doubtnut.com/l/_9BKf3eDDRtQ9
https://dl.doubtnut.com/l/_wx9rKce3TN5B
https://dl.doubtnut.com/l/_GDyN82MGbu1q


192. In a group of 400 people, 250 can speak Hindi and 200 can speak

English. How many people can speak both Hindi and English?

Watch Video Solution

193. If S and T are two sets such that S has 21 elements, T has 32 elements,

and  has 11 elements, how many elements does  have?

Watch Video Solution

S ∩ T S ∪ T

194. If X and Y are two sets such that X has 40 elements,  has 60

elements and  has 10 elements, how many elements does Y have?

Watch Video Solution

X ∪ Y

X ∩ Y

195. In a group of 70 people, 37 like coffee, 52 like tea and each person

likes at least one of the two drinks. How many people like both coffee and

https://dl.doubtnut.com/l/_he16LyN6eZ7Y
https://dl.doubtnut.com/l/_EOQJNg8H7Q5H
https://dl.doubtnut.com/l/_OysZVZvIiYXI
https://dl.doubtnut.com/l/_RzXrJHOm1QVi


tea?

Watch Video Solution

196. In a group of 65 people, 40 like cricket, 10 like both cricket and tennis.

How many like tennis only and not cricket?How many like tennis?

Watch Video Solution

197. In a commifiee, 50 people speak French, 20 speak Spanish and 10

speak both Spanish and French. How many speaks at least one of these

two languages?

Watch Video Solution

198. Consider the sets A = {x:x is an integer and ) and B = {x:x

is a letter in the word INDIA} 

Write A and B in Roster form

−3 ≤ x < 1

https://dl.doubtnut.com/l/_RzXrJHOm1QVi
https://dl.doubtnut.com/l/_tDTTnE8xRQt8
https://dl.doubtnut.com/l/_ZGBBv1NL5Rqs
https://dl.doubtnut.com/l/_HsdulFQAtvO4


Watch Video Solution

199. Consider the sets A = {x:x is an integer and ) and B = {x:x

is a letter in the word INDIA} 

How many subsets does A have? Write all possible subsets of A. Hence,

construct the power set of A

Watch Video Solution

−3 ≤ x < 1

200. Choose the correct answer from the bracket and fill in the blank. If A

contains 3 objects, then the number of possible subsets of A=...(4,16,8,32)

Watch Video Solution

https://dl.doubtnut.com/l/_HsdulFQAtvO4
https://dl.doubtnut.com/l/_DZ15SHLazgYB
https://dl.doubtnut.com/l/_neT1YFpKsVVF


201. Match the following 

Watch Video Solution

202. Consider the sets A = {1,2,4,5},B ={2,4,6,8} and C = {4,6,8,9} 

Find . Hence, find 

Watch Video Solution

B ∩ C A ∪ (B ∩ C)

203. Consider the sets A = {1,2,4,5},B ={2,4,6,8} and C = {4,6,8,9} Find 

and .Hence, verify that 

Watch Video Solution

A ∪ B

A ∪ C A ∪ (B ∩ C) = (A ∪ B) ∩ (A ∪ C)

https://dl.doubtnut.com/l/_I5EOofxN3E5V
https://dl.doubtnut.com/l/_CoMBdopoy5Kd
https://dl.doubtnut.com/l/_vVVLDfzMYI5Y


204. Consider the following venn diagram 

What is the

region represented by the shading?

Watch Video Solution

https://dl.doubtnut.com/l/_vVVLDfzMYI5Y
https://dl.doubtnut.com/l/_xg3Wqx3iG2xE


205. Consider the following venn diagram 

 


What is the set represented by the shading region?

Watch Video Solution

https://dl.doubtnut.com/l/_lSKPrHxzGUL3


206. Consider the following venn diagram 

Using the

Venn diagram, fill in the blanks by choosing correct answer from the

bracket 

,

Watch Video Solution

(A − B) ∪ (A ∩ B) = − − − − − , (A − B) ∪ (A ∩ B) ∪ (B − A= −

A ∪ (B − A) = − − − − , A − (A − B) = − − − − − [B, A, A ∩ B

https://dl.doubtnut.com/l/_h40E45rSqByy


207. Two finite sets have m and n elements, The total number of subsets

of the first set is 56 more than the total number of subsets of the second

set. Find the values of m and n.

Watch Video Solution

208. Suppose in a group of 100 persons 80 take tea, 30 take coffee and 20

take both tea and coffee. Suppose T denotes the set of all persons in the

group taking tea and C denotes the set of all persons in the group taking

coffee.

Fill in the blanks 

n(T) = -----, n(C) = -----,  = -----

Watch Video Solution

n(T ∩ C)

209. A T.V survey gives the following data for T.V viewing:

 see programme A,  programme B,  programma C,

programmes A and B,  programmes B and C,  programmes A and

60 % 50 % 50 % 30 %

20 % 30 %

https://dl.doubtnut.com/l/_qHgAnLMrfNWu
https://dl.doubtnut.com/l/_OBcfSxyrmJ46
https://dl.doubtnut.com/l/_MbkE8xPljSFC


C,  do not view any programme.


What percent view all the three programmes A,B and C?

Watch Video Solution

10 %

210. A T.V survey gives the following data for T.V viewing:

 see programme A,  programme B,  programme C,

programmes A and B,  programmes B and C,  programmes A and

C,  do not view any programme.


What percent view exactly two programmes?

Watch Video Solution

60 % 50 % 50 % 30 %

20 % 30 %

10 %

211. Consider the following sets: 

A = {x:x is a natural number and 


B ={x:x is a natural number and }


Represent these sets on Roster form

Watch Video Solution

1 < x ≤ 4}

4 < x ≤ 8

https://dl.doubtnut.com/l/_MbkE8xPljSFC
https://dl.doubtnut.com/l/_es6kxPbFqcHB
https://dl.doubtnut.com/l/_kTC8z1a9wdya


212. Consider the following sets: 

A = {x:x is a natural number and 


B ={x:x is a natural number and }


Find P(A)

Watch Video Solution

1 < x ≤ 4}

4 < x ≤ 8

213. Consider the following sets: 

A = {x:x is a natural number and 


B ={x:x is a natural number and }


Find 

Watch Video Solution

1 < x ≤ 4}

4 < x ≤ 8

A ∪ B

214. Consider the following sets: A = {x:x is a natural number and




B ={x:x is a natural number and } Are the given sets disjoint?

1 < x ≤ 4}

4 < x ≤ 8

https://dl.doubtnut.com/l/_kTC8z1a9wdya
https://dl.doubtnut.com/l/_uxGsnvYsU14K
https://dl.doubtnut.com/l/_dlsHua1NMcn7
https://dl.doubtnut.com/l/_AFBM51xre0UU


Watch Video Solution

215. Consider the following collections

(a) Collection of all even integers

(b) Collection of all best student in your town

(c) Collection of all boys in your town 

Then , which of the following is true? Justify your Answer.

(a) and (b) are sets and (c) is not a set

Watch Video Solution

216. Consider the following collections

(a) Collection of all even integers

(b) Collection of all best student in your town

(c) Collection of all boys in your town 

Then , which of the following is true? Justify your Answer.

(a) and (c) are sets and (b) is not a set

Watch Video Solution

https://dl.doubtnut.com/l/_AFBM51xre0UU
https://dl.doubtnut.com/l/_GoqZwNtISYND
https://dl.doubtnut.com/l/_IHl4mxTW3w4t


217. Consider the following collections

(a) Collection of all even integers

(b) Collection of all best student in your town

(c) Collection of all boys in your town 

Then , which of the following is true? Justify your Answer.

(b) and (c) are sets and (a) is not a set

Watch Video Solution

218. Consider the following collections

(a) Collection of all even integers

(b) Collection of all best student in your town

(c) Collection of all boys in your town 

Then , which of the following is true? Justify your Answer.

(a) , (b) and (c) are all sets

Watch Video Solution

https://dl.doubtnut.com/l/_IHl4mxTW3w4t
https://dl.doubtnut.com/l/_BnGT3ZBDw3Qj
https://dl.doubtnut.com/l/_b8FMzuH9Hhpl
https://dl.doubtnut.com/l/_wMTfaxMxDAvB


219. Let U = {1,2,3,4,5,6,7}, A = {1,5,6} and B = {1,2,6,7}.Find A' and B'

Watch Video Solution

220. Let U = {1,2,3,4,5,6,7}, A = {1,5,6} and B = {1,2,6,7}Find

Watch Video Solution

A ∪ B

221. Let U = {1,2,3,4,5,6,7}, A = {1,5,6} and B = {1,2,6,7}Find 

Watch Video Solution

A ∩ B

222. Let U = {1,2,3,4,5,6,7}, A = {1,5,6} and B = {1,2,6,7}.Verify the De Morgan's

laws

Watch Video Solution

https://dl.doubtnut.com/l/_wMTfaxMxDAvB
https://dl.doubtnut.com/l/_I6eiiQsfIWb3
https://dl.doubtnut.com/l/_MR91xqGdnml3
https://dl.doubtnut.com/l/_kmWnnq29czTP


223. If A = {4,5,6,8,9}, B = {4,5,8} and C = {3,4,8,9} Find  and 

Watch Video Solution

A ∩ B B ∩ C

224. If A = {4,5,6,8,9}, B = {4,5,8} and C = {3,4,8,9} Find  and 

Watch Video Solution

A ∪ B B ∪ C

225. If A = {4,5,6,8,9}, B = {4,5,8} and C = {3,4,8,9}.Verify the following result,

Watch Video Solution

(A ∩ B) ∩ C = A ∩ (B ∩ C)

226. If A = {4,5,6,8,9}, B = {4,5,8} and C = {3,4,8,9}.Verify the following result,

Watch Video Solution

A ∪ (B ∩ C) = (A ∪ B) ∩ (A ∪ C)

https://dl.doubtnut.com/l/_GC9kifGFugst
https://dl.doubtnut.com/l/_5Kjc37QDoq85
https://dl.doubtnut.com/l/_bzEimYMpH3UE
https://dl.doubtnut.com/l/_OUbUEFThAQLi
https://dl.doubtnut.com/l/_SOFe4VNMNTB6


227. If A = {4,5,6,8,9}, B = {4,5,8} and C = {3,4,8,9}.Verify the following results,

Watch Video Solution

A ∩ (B ∪ C) = (A ∩ B) ∪ (A ∩ C)

228. Consider the sets A = {1,2,3,4} and B = {3,4,5,6} Match the following 

Watch Video Solution

https://dl.doubtnut.com/l/_SOFe4VNMNTB6
https://dl.doubtnut.com/l/_crlpNnNmsMma


229. Consider the sets A = {1,2,3,4} and B = {3,4,5,6} .Are A and B equivalent?

Justify.

Watch Video Solution

230. Consider the sets A = {1,2,3,4} and B = {3,4,5,6}.Find all possible

subsets of A and B count the number of subsets of A. Verify the following

https://dl.doubtnut.com/l/_FQ8rXSvU30Js
https://dl.doubtnut.com/l/_J9TwVkvDqGyU


result.If A contains n elements , then A will have  subsets'.

Watch Video Solution

2n

231. Fill in the blanks

Watch Video Solution

https://dl.doubtnut.com/l/_J9TwVkvDqGyU
https://dl.doubtnut.com/l/_vhlYrRgWlEPM
https://dl.doubtnut.com/l/_REaXjDbPaTuc


232. Given the following result " The dual of any result in set theory will

be another result, where the dual is obtained by changing

 Write the dual

results of the following results 

Watch Video Solution

' ∪ → ∩ ' , ' ∩ → ∪ ' , ' ϕ → U' and 'U → ϕ'

A ∪ A = A

233. Given the following result " The dual of any result in set theory will

be another result, where the dual is obtained by changing

 Write the dual

results of the following results 

Watch Video Solution

' ∪ → ∩ ' , ' ∩ → ∪ ' , ' ϕ → U' and 'U → ϕ'

A ∩ U = A

234. Given the following result " The dual of any result in set theory will

be another result, where the dual is obtained by changing

 Write the dual

results of the following results 

h id l i

' ∪ → ∩ ' , ' ∩ → ∪ ' , ' ϕ → U' and 'U → ϕ'

(A ∪ B)' = A' ∩ B'

https://dl.doubtnut.com/l/_REaXjDbPaTuc
https://dl.doubtnut.com/l/_V3D1vWjSxeEC
https://dl.doubtnut.com/l/_pCHDNZsQZ3Re


Watch Video Solution

235. Given the following result " The dual of any result in set theory will

be another result, where the dual is obtained by changing

 Write the dual

results of the following results 

Watch Video Solution

' ∪ → ∩ ' , ' ∩ → ∪ ' , ' ϕ → U' and 'U → ϕ'

A ∪ (B ∩ C) = (A ∪ B) ∩ (A ∪ C)

236. Given the following result" The dual of any result in set theory will be

another result, where the dual is obtained by changing

 Write the dual

results of the following results 

Watch Video Solution

' ∪ → ∩ ' , ' ∩ → ∪ ' , ' ϕ → U' and 'U → ϕ'

A ∪ A' = U

237. Suppose X and Y are two sets Prove that n  = n (X) +n(Y)-n (X ∪ Y )

(X ∩ Y )

https://dl.doubtnut.com/l/_pCHDNZsQZ3Re
https://dl.doubtnut.com/l/_7SH6v3Vkpy31
https://dl.doubtnut.com/l/_mrJy0ZtJy9n1
https://dl.doubtnut.com/l/_KzQgpAR5Rw90


Watch Video Solution

238. Suppose X and Y are two sets If n  = 50, n (X) = 28 and n (Y) =

32, find n 

Watch Video Solution

(X ∪ Y )

(X ∩ Y )

239. In a group of 50 persons, 14 drink tea but not coffee and 30 drink tea.

Let T and C denote the sets of persons drinking tea and coffee

respectively.What is the value of n (T - C)?

Watch Video Solution

240. In a group of 50 persons, 14 drink tea but not coffee and 30 drink

tea. Let T and C denote the sets of persons drinking tea and coffee

respectively.What is the value of n (T)?

Watch Video Solution

https://dl.doubtnut.com/l/_KzQgpAR5Rw90
https://dl.doubtnut.com/l/_lVlelLbpIW8S
https://dl.doubtnut.com/l/_Al4aWnSz2lol
https://dl.doubtnut.com/l/_gQ5905GjTJEh


241. In a group of 50 persons, 14 drink tea but not coffee and 30 drink tea.

Let T and C denote the sets of persons drinking tea and coffee

respectively.How many drink tea and coffee both?

Watch Video Solution

242. In a group of 50 persons, 14 drink tea but not coffee and 30 drink tea.

Let T and C denote the sets of persons drinking tea and coffee

respectively.How many drink coffee but not tea?

Watch Video Solution

243. In a group of people 50 speak French, 20 speak Spanish and 10 speak

both Spanish and French.Find the number of people speaking only French

Watch Video Solution

https://dl.doubtnut.com/l/_AoRvbalGT7k4
https://dl.doubtnut.com/l/_dYMRkYXPnbBI
https://dl.doubtnut.com/l/_xMnI9EiNC3D8


244. In a group of people 50 speak French, 20 speak Spanish and 10 speak

both Spanish and French.Find the number of people speaking only

Spanish

Watch Video Solution

245. In a group of people 50 speak French, 20 speak Spanish and 10 speak

both Spanish and French.Find the number of people speaking at least

one of these two languages.

Watch Video Solution

246. A T.V. survey gives the following data for T.V. viewing,  see

programme x,  programme y,  programme z,  programmes

x and y,  programmes y and z,  programmes x and z,  do not

view any programme 

What percent view at least one of the programmes?

Watch Video Solution

60 %

50 % 50 % 30 %

20 % 30 % 5 %

https://dl.doubtnut.com/l/_jnImyO4HjWuK
https://dl.doubtnut.com/l/_vOZ2M1tVfHjR
https://dl.doubtnut.com/l/_NwjET7ieAY4N


Watch Video Solution

247. A T.V survey gives the following data for T.V viewing:

 see programme A,  programme B,  programma C,

programmes A and B,  programmes B and C,  programmes A and

C,  do not view any programme.


What percent view all the three programmes A,B and C?

Watch Video Solution

60 % 50 % 50 % 30 %

20 % 30 %

10 %

248. A T.V. survey gives the following data for T.V. viewing,  see

programme x,  programme y,  programme z,  programmes

x and y,  programmes y and z,  programmes x and z,  do not

view any programme 

What percent view exactly two programmes?

Watch Video Solution

60 %

50 % 50 % 30 %

20 % 30 % 5 %

https://dl.doubtnut.com/l/_NwjET7ieAY4N
https://dl.doubtnut.com/l/_bKTpPLij4wRb
https://dl.doubtnut.com/l/_hLHNkYxX7X5s


249. Decide, among the following sets, which sets are subsets of one and

another:A = {x:x  R and x satisfy -8x + 12 = 0} B = {2,4,6}, C = {2,4,6,8,..},

D = {6}

Watch Video Solution

∈ x2

250. In each of the following , determine whether the statement is true or

false. If it is true, prove it. If it is false, give an example.

If  and then 

Watch Video Solution

x ∈ A A ∈ B x ∈ B

251. In each of the following , determine whether the statement is true or

false. If it is true, prove it. If it is false, give an example.

If  and , then

Watch Video Solution

A ⊂ B B ∈ C A ∈ C

https://dl.doubtnut.com/l/_aTnsj6AerZZM
https://dl.doubtnut.com/l/_hduJajLixEjI
https://dl.doubtnut.com/l/_ADy56TKt6B37
https://dl.doubtnut.com/l/_JKnULbj1aFbY


252. In each of the following , determine whether the statement is true or

false. If it is true, prove it. If it is false, give an example.

If  and , then 

Watch Video Solution

A ⊂ B B ⊂ C A ⊂ C

253. In each of the following , determine whether the statement is true or

false. If it is true, prove it. If it is false, give an example.

If  and , then 

Watch Video Solution

A ⊂ B B ⊂ C A ⊂ C

254. In each of the following , determine whether the statement is true or

false. If it is true, prove it. If it is false, give an example.

If  and , then 

Watch Video Solution

x ∈ A A ⊂ B x ∈ B

https://dl.doubtnut.com/l/_JKnULbj1aFbY
https://dl.doubtnut.com/l/_HdYhnzAZTT6O
https://dl.doubtnut.com/l/_zqa7OrRE7epD


255. In each of the following , determine whether the statement is true or

false. If it is true, prove it. If it is false, give an example.

If  and  then 

Watch Video Solution

A ⊂ B x ∉ B, x ∉ A

256. Let A,B and C be the sets such that  and 

. Show that B = C.

Watch Video Solution

A ∪ B = A ∪ C

A ∩ B = A ∩ C

257. Show that if , then 

Watch Video Solution

A ⊂ B C − B ⊂ C − A

258. Assume that P (A) = P (B).Show that A = B

Watch Video Solution

https://dl.doubtnut.com/l/_QeF0utwyOA8D
https://dl.doubtnut.com/l/_mq0E6dA7RpoW
https://dl.doubtnut.com/l/_THz5FKLbjC6b
https://dl.doubtnut.com/l/_PfIeSwDOjaXe


259. Is it true that for any sets A and ?

Justify your answer

Watch Video Solution

B, P (A) ∪ P (B) = P (A ∪ B)

260. Show that for any sets A and B. A=  and 

Watch Video Solution

(A ∩ B) ∪ (A − B)

A ∪ (B − A) = (A ∪ B)

261. Show that  need not imply B = C

Watch Video Solution

A ∩ B = A ∩ C

262. Let A and B be sets. If  and 

for some set X, show that A = B

W h Vid S l i

A ∩ X = B ∩ X = ϕ A ∪ X = B ∪ X

https://dl.doubtnut.com/l/_PfIeSwDOjaXe
https://dl.doubtnut.com/l/_PtdykMtPRkSO
https://dl.doubtnut.com/l/_qqCGNKR71sC2
https://dl.doubtnut.com/l/_YCYGM9VyJgb8
https://dl.doubtnut.com/l/_OjNh2TxaKmjM


Watch Video Solution

263. Find sets A,B and C such that  and  are non-

empty sets and 

Watch Video Solution

A ∩ B, B ∩ C A ∩ C

A ∩ B ∩ C = ϕ

264. In a survey of 600 students in a school,150 students were found to be

taking tea and 225 students were taking coffee.100 were taking both tea

and coffee. Find how many students were taking neither tea nor coffee.

Watch Video Solution

265. In a group of students, 100 students know Hindi, 50 know English

and 33 know both. Each of the students knows either Hindi or English.

How many students are there in the group?

Watch Video Solution

https://dl.doubtnut.com/l/_OjNh2TxaKmjM
https://dl.doubtnut.com/l/_ZL4vCN2cysrR
https://dl.doubtnut.com/l/_MdiVw9QiqaAl
https://dl.doubtnut.com/l/_17XNkFo9XFqJ


266. In survey of 60 people, it was found that 25 people read newspaper

H, 26 read newspaper T, 26 read newspaper I, 9 read H and I, 11 read both

H and T, 8 read both T and I,3 read all three newspapers. Find:the number

of people who read at least one of the newspapers

Watch Video Solution

267. In survery of 60 perople, it was found that 25 people read newspaper

H, 26 read newspaper T, 26 read newspaper I, 9 read H and I, 11 read both

H and T, 8 read both T and I,3 read all three newspapers. Find: 

the number of people who read exactly one newspaper

Watch Video Solution

268. In a survey it was found that 21 people liked product A,26 liked

product B and 29 liked product C.If 14 people liked products A and B ,12

people liked products C and A. 14 people liked products B and C and 8

liked all the three products. Find how many liked product C only.

https://dl.doubtnut.com/l/_6kcIeqfsJccV
https://dl.doubtnut.com/l/_sNhy9kBsgMBZ
https://dl.doubtnut.com/l/_mhq8YP3juXzi


Watch Video Solution

https://dl.doubtnut.com/l/_mhq8YP3juXzi

